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Solution sheet model 1
Truss
1. The house is wobbly. The three struts are connected to one another by two joints and can freely rotate about these joints. With one member in a chain, the adjacent member can be moved up and down or to the right or left.

2. [bookmark: _Hlk108614692]Together with the roof, the truss members now form a closed chain in which the individual elements can move relatively freely. It's all still a bit wobbly, but less wobbly than the first try.

3. [bookmark: _Hlk108620413]The “tie beam” turns the roof into a closed triangle that can no longer change its shape. The roof is sturdy, the rest can still move quite easily.

4. The “House of Santa Claus” is now extremely sturdy – you could even leave one of the diagonal members out and it would still be sturdy.

5. The struts can rotate around the node axis in each node. But the node at the other end cannot move because it is “held tight” by the adjacent strut. 

An ideal truss is made up only of members connected by joints. The load on these members is then only due to tension or compression.
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